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EBEFEF HK$100,000 7 12 BRER - BRFEEER 0.21% -
ZHAAE=HK$100,000 x 0.21% = HK$210

ZHIF RS = HK$210 x 12 (32F0EA%L ) = HK$2,520

S AEME=(HK$100,000 + HK$2,520) /12 ( ZFHAE ) = HK$8,543.33
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£1E8 HK$2,520 x 12/78 = HK$387.69 HK$8,543.33 — HK$387.69 = HK$8,155.64
£2@8 HK$2,520 x 11/78 = HK$355.38 HK$8,543.33 — HK$355.38 = HK$8,187.95
%3 @8 HK$2,520 x 10/78 = HK$323.08 HK$8,543.33 — HK$323.08 = HK$8,220.26
%4 @8 HK$2,520 x 9/78 = HK$290.77 HK$8,543.33 — HK$290.77 = HK$8,252.56
%5 @8 HK$2,520 x 8/78 = HK$258.46 HK$8,543.33 — HK$258.46 = HK$8,284.87
%6 @5 HK$2,520 x 7/78 = HK$226.15 HK$8,543.33 — HK$226.15 = HK$8,317.18
£7@8 HK$2,520 x 6/78 = HK$193.85 HK$8,543.33 — HK$193.85 = HK$8,349.49
%8 @A HK$2,520 x 5/78 = HK$161.54 HK$8,543.33 — HK$161.54 = HK$8,381.79
$9EA HK$2,520 x 4/78 = HK$129.23 HK$8,543.33 — HK$129.23 = HK$8,414.10
#1088 HK$2,520 x 3/78 = HK$96.92 HK$8,543.33 - HK$96.92 = HK$8,446.41
1188 HK$2,520 x 2/78 = HK$64.62 HK$8,543.33 — HK$64.62 = HK$8,478.72
£ 1288 HK$2,520 x 1/78 = HK$32.31 HK$8,543.33 — HK$32.31 = HK$8,511.03
B HK$2,520 HK$100,000
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g EMEA(HKS) | FEE(HKS) | FE (HKS) K& (HK$) REEREA(HKS) 2 ERER(HKS)

0 100,000.00 2,520.00

1 8,543.33 0.00 387.69 8,155.64 91,844.36 2,13231

2 8,543.33 0.00 355.38 8,187.95 83,656.41 1,776.92

3 8,543.33 0.00 323.08 8,220.26 75,436.15 1,453.85

4 8,543.33 0.00 290.77 8,252.56 67,183.59 1,163.08

5 8,543.33 0.00 258.46 8,284.87 58,898.72 904.62

6 8,543.33 0.00 226.15 8,317.18 50,581.54 " 678.46

7 8,543.33]° 0.00 193.85 8,349.49 |42,232.05|3 484.62

8 8,543.33 0.00 161.54]" 8,381.79 33,850.26 323.08

9 8,543.33 0.00 129.23 8,414.10 25,436.15 193.85

10 8,543.33 0.00 96.92 8,446.41 16,989.74 96.92

11 8,543.33 0.00 64.62 8,478.72 8,511.03 3231

12 8,543.33 0.00 3231 8,511.03 0.00 0
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= HK$100,000- 5 1 [ARAE -F 2 @RAE - ... - B 7 BEEXE
= HK$100,000 — HK$8,155.64 —HK$8,187.95 — HK$8,349.49

= HK$42,232.05
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= HK$8,543.33 + HK$42,232.05 + HK$505.82

= HK$51,281.20
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= HK$161.54 + HK$129.23 +......+ HK$32.31
= HK$484.62
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